PG-C-719 MCO-11

M.A - DEGREE EXAMINATIONS DECEMBER-2020
COMMERCE

First year
BUSINESS ADMINISTRATION
Time : 3 Hours Maximum Marks : 75

PART - A- (3 x 5 =15 Marks)

Answer any THREE Questions :
1. State the different types of planning
S LflpEeder Lsd Goum susmaEsemen allem s @s.
2. List out the advantages and disadvantages of Departmentation.
GIOME6T LSS eleT HaTennSEmearu, @mnurhisameruid suflamalinbsg)s.
3. State the importance of motivation.
Qeqnsssdlar Waslusgasms &mesnns g ilips.
4. What is meant by social audit?
FePSG SHeuTISemd 6TEUTMIT6) 6T60T60T ?
5. List out the steps in decision making.

Wig QiS5 gISe060T LsOGaUMI Lilg Blemeusems 6T,
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PART - B- (4 x 15 = 60 Marks)

Answer any FOUR Questions :

6.

10.

1.

12.

Discuss the 14 principles of Henry Foyal contribution in Management
Qemeurtl Gumwedlesr GLeuremTeniod @ euprisl 14 GameaTanasamer ailaufl ?
Describe the principles of organising.

(peomwrenr giemwolidler Camlur@semer alloufl.

Explain the effective control techniques in management.

Guersmrenioulled s sLEUUTL @ BILukisaT GNlsg alleréd) 6ipsgis.

Critically examine the social responsibilities of business.
susmilagdled Fepall Qurmiliyser unfl Snermie Qauis.

Explain the various barriers of communication. How do they overcome?

SoH6u0 QLT o 6fer  @EOLULS6T WTMaI?  jmeuseT ereleuTm  &ifl

Qauu@GElng,.

Define Co-ordination. What are the techniques of Effective Co-ordination?

R(HEISmaSES50 eI Fnbs 6bEISleneuTSSaISSTeT I LEIS6T WTme?

Planning and control are the two facets of a same coin - Explain.

“SILlg6” wnmih s GLLOSSIS0 @ HreTgsleT @lreur(H LdasmigeT

LGLD - al6TE G ?
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PG-C-719 MCO-11

M.COM. DEGREE EXAMINATION DECEMBER - 2020
COMMERCE
First Year
BUSINESS ADMINISTRATION
Time : 3 Hours Maximum Marks : 70
PART- A (5 x 5 =25 Marks)
Answer any Five questions

1. Define Management by objectives.
GM&CaMaTaHemeL GLIGTEITTENLD QI
2. State the concepts of organizing
R(PMISHENLD &(hSHG)|HSHEMENT GnMIS.
3. Define Group Dynamics
G W@ QWHSHAIILIED CUMILIMISSHELD
4. Define Directing
AWISHHHMS 6UMTUIMISHSHELD
5. What are the Characteristics of a good communication?
@(H HELEL H&HEUED GQIGHMTLITL LIGHUIL|S6T 616316017
6. State the Corporate social responsibility of an organization.
@(h HmieusdHest QUbBMIeUsT &cnsh GUTMILIEHL Snmis.
7. Write on various types of communication
LeLCeum| euMSILITE GGHMLLSHemenLl LDHM SnmIs.
8. What is delegation of authority?

IIFH SN QLILIEHL 6 6TEUTMIT6D 6T6UT 60T ?
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PART - B (3 x 15 = 45 Marks)

Answer any Three questions

9. Explain the Planning and Decision Making process of administration
HreursHdHeor SILL AL 60 LMMID (WIgGeuEaHEGLI C1&1L6ed
(Lemmenil eN6N& & MmideN.

10. Discuss the resolution of conflicts between line and staff functions.
suflems euM LHMID eafluinaeilen QawOUTHSELGE Q6L uNevmen
SHS5G Caumurliger Sismeuliumm eNeunHéseLn.

11. Discuss the various Leadership styles

LeLGauml FHemevemLndGier LimeaNadenentl UMM eleundHlébseain.

12. Explain the various barriers to communication

$&H6UL CHMTLMLSHSM6T LILGCoUM HEDL&Hemen alend & misbel

13. Discuss Recent trends in business and Management.

eu6wNa LMmILD Hifeunsd e &LHLSSHW CUTSHGSemenLl LM
aleundlé&eLn.
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PG-C-720 MCO-12

M.Com - DEGREE EXAMINATIONS DECEMBER-2020
COMMERCE
First year
MANAGEMENT AND COST ACCOUNTING
Time : 3 Hours Maximum Marks : 75
PART - A (3 x 5 =15 Marks)

Answer any THREE Questions :
1. Give any five functions of Management Accounting.
GueureuttenLod; semrsdlwedler Lsmflaaflsd s5Camd smhema allers @ ?

2. The following figures of profits and sales for two consecutive years are available in

respect of a concern:

Year Sales (Rs.) Profit (Rs.)

2018 2,00,000 30,000

2019 2,40,000 46,000
Calculate:

a. P/V Ratio
b. Fixed Cost

c. Break Even Point

@ Bnaarsdlar @rah 055058 I aibsaflar albusmer LNHMID Glsruid

UleureumLomm) :
2y 6mT (B ellmuemenr (erm) @eomruid (em)
2018 2,00,000 30,000
2019 2,40,000 46,000

a. @eoru gemey allElEn

b. Fleneowimenr GQ&sveysen LoHmiD

c. @eoru - B omy swdlmelistafl g SusTaimmms sersslHs
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The following data are gathered from the record of a Company :
Standard Rate of wages per hour = Rs.10

Stantard Hours = 300

Actual Rate of wages per hour = Rs.12

Actual Hours =200

You are required to Calculate :

a. Labour Cost Variance
b. Labour Rate Variance
C. Labour Efficiency Variance

sipsaramid Yeteflelurmiser e Hnwsdlear g@seaflalmbg CaasflsasiulLame :
flirsrruilé s’ L gnedl wemilég em.10
lirsroruillgasiuc L ey = 300 wemnilsar
2 _GUUTEMLOWITET &6l Losmfl(S erp.12
o_euoTemiowimenr Gmyh = 200 wewfl&eT
a. QamfleomsTit &n60l G&evey Goumump
b. Qamypsrer g6l ais CoumiLr® Lmmid
C. Qgmifleorerit Slmer Coumiur® gy Swanmms - ST SSHis.

Prepare a production budget for 3 months ending 31-3-2020 for a factory producing 5

products, on the basis of the following information:

Opening Stock | Budgeted Sales Closing Stock
Product b (Un%ts) (gUnits) (Ungits)
A 5,000 20,000 4,000
B 6,000 25,000 6,000
C 10,000 50,000 11,000
D 1,000 10,000 1,000
E 2,000 5,000 5,000

Uemeud  ssansmers OCamamih obg Qur@alsmer o musdl Qe
Blyeergdler wmig 31-0 mrCam@® (pypamid 3 LISHSERSSTET 2 NUSSS
FLGmagd swrildsean.

. gg?m'nue:r S allhusneor @.@ﬂ é:

Quirmeit el oy (@) el @y
(SIvGEar) (SIvGEar)

A 5,000 20,000 4,000

B 6,000 25,000 6,000

C 10,000 50,000 11,000

D 1,000 10,000 1,000

E 2,000 5,000 5,000
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5.

Sakthivel Company Limited wants to purchase a new machine. There are two

alternative models X and Y which require an equal investment of Rs.50,000 and are

expected to generated net cash flows as under :

Year Machine X Rs. Machine Y Rs.
1 25,000 10,000
2 10,000 12,000
3 10,000 15,000
4 2,500 8,000
5 -- 3,500
6 4,000 4,000

Which machine should be chosen and why? Evaluate under ‘Pay - Back

Period’method

5516 s6uefl OINALL em yHu @Quidlrn arms elmoySlngl. swowmer

Y3eSLrs  5.50,000-5dl6d, Getaumurprer Hlar Qrrésl QUNSHSmers

Qar@&@L sar adiurTésliuGid X wnnn Y aarm @@ wrnn @ukdlymisst

2_6IT6IT60T.
. Quibdlrid Quiblid
LI LC)
X em Y ¢
1 25,000 10,000
2 10,000 12,000
3 10,000 15,000
4 2,500 8,000
5 -- 3,500
6 4,000 4,000

g Quidrsms et Caiey Qouw GCeemi@? Slmwul Gumid STl

peomullssruig LHITE GEuaL.
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PART - B- (4 x 15 = 60 Marks)

Answer any FOUR Questions :

6. Define Management Accounting. Explain its Scope.

Gueureneniod SemTdlleme e ST LTlieny el6md @ ?

7. Write short notes on the following.
a. Budgetary Control
b. Standard Costing
c. Marginal Costing
d. Capital Budgeting

c.

Capital Rationing

Wevreuneueer Lmnl fmy @by eusnrss :

a.
b.
.

d.

c.

S L& sl Huum®

FThlemevd: &6um&dlieh

epeugard Ll e
ELPEVEHEITL! LIIES(H)

LTmid QFae|s S euuTeale

8. The Balance Sheets of Kohli Limited as on 31% December 2017 and 31% December

2018 are as follows:

et 2017 2018 2017 2018
Liabilities Rs. Rs. Assets Rs. Rs.
Equity Share 5,00,000 | 7,00,000 | Buildings 80,000 | 1,20,000

capital
Profit and Loss 1,00,000 | 1,60,000 | Machinery 5,00,000 | 8,00,000
Alc
General Reserve 50,000 70,000 | Stock 1,00,000 75,000
Creditors 1,53,000 | 1,90,000 | Debtors 1,50,000 | 1,60,000
Bills Payable 40,000 50,000 | Cash 20,000 20,000
Outstanding 7,000 5,000
expenses

8,50,000 | 11,75,000 8,50,000 | 11,75,000

Additional information :

a. A depreciation of Rs.50,000 has been charged on Machinery during 2018.

b. A piece of Machinery was sold for Rs.8,000 during the year 2018. It had cost
Rs.12,000, depreciation of Rs.7,000 had been provided on it.

You are required to prepare a Funds Flow Statement.

PG-C-720



Gamedl  eOWfl L 31-12-2017 whHmid  31-12-2018-h  mreweTw @B
flemaa@MIiiyset UleTemomy).

Qungiiyss 2017 2018 QensgEs 2017 2018
STSMTEUT LIS 5,00,000 | 7,00,000 | SLLLEigEaT 80,000 | 1,20,000
Y60
@eruslLs /& | 1,00,000 | 1,60,000 | Quibdlrmigat | 5,00,000 | 8,00,000
Gurgs sy 50,000 | 70,000 | eTael@miy 1,00,000 | 75,000
SL 6ol b Gt 1,53,000 | 1,90,000 | sLeomerflgeir 1,50,000 | 1,60,000
Qesgissn@u | 40,000 | 50,000 | Qrrésid 20,000 | 20,000
ormm& & Oser
QambuL 7,000 5,000
Geveuorigul
Q& 60661

8,50,000 | 11,75,000 8,50,000 | 11,75,000

S (HF60 aurmiS6T

a. @uidlmd gmrer  Gguomerd e5.50,000 2018-b  gyemi(HEG WSS
E&SLIULL g

b. 201810 gyeuiiged 6 Quidlmd em.8000-5816@ InslUlLg. Ig6T
IL 5 mﬁﬂu er. 12,000, Gurgs Gauiomers em.7,000 BaslUL (b6 org).

&) pLm L gifl&mamis swmflésa|in.

Assuming that the cost and selling price remains the same, in the year 2018 and 2019,
Calculate the following:

a. P/V Ratio

b. Break Even Sales

c. Profit when sales are Rs.2,00,000

d. Sales required to earn a profit of Rs.40,000

e. Margin of Safety to earn a profit of Rs.30,000

Year Sales Rs. Profit Rs.
2018 2,40,000 18,000
2019 2,80,000 26,000
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10.

2018 wmmid 2019 - gy oemiisatled gL &s alemewd, albusmer alsmeu

RETMTE6 QHhEESsTSE S[HEHHle Qe (), UeaTamasTanmmns a6 & (ha:

a @eoru - uBisefliy eldlgLn

b. @eoru - BLL MM Foblene ellhuener

C. eflmusmenr em.2,00,000 2_ater GuTg) @eomLid

d. e-40,000 @eoruid FrlL g Caemeuwimenr eilmLiemear

€. em5-30,000 @euruid FrL (B Gurgmeer LTgsmiy ellefloy

LI (C) allmusment (1) @eomuih (em)
2018 2,40,000 18,000
2019 2,80,000 26,000
From the following data, calculate.
a. Material Cost Variance
b. Material Price Variance
c. Material Usage Variance
d. Material Mix Variance
Material Standard Actual
Units Price Rs. Units Price Rs.
A 8,000 105 7,500 120
B 3,000 215 3,300 230
C 2,000 330 2,400 350
Uereuqnid elleurmisefled g SlpsasamiLamnemms e s (.
a. eyelIGUTmeT L&& L&y Caumur®
b. eyeliGuTmeT alemey Coumum(
C. epeliGlLm et LweTuT.®  Goumium(
d. epeLIGILITmeT Sevemeu GaumiLim(bh
. : Hliswnilssg) lespbag|
epeoLiGILIT (HaT _ _
3|60(GS6T allsmev e 360G SE6IT allemev er
A 8,000 105 7,500 120
B 3,000 215 3,300 230
C 2,000 330 2,400 350
6 PG-C-720




11.  The expenses for budgeted production of 10,000 units in a factory are furnished

below:
Per Unit Rs.

Materials 70
Labour 25
Variable expenses (Direct) 5
Variable Overhead 20
Fixed Overhead (Rs.1,00,000) 10
Administration expenses (Rs.50,000) 5
Selling expenses (10% Fixed) 13
Distribution expenses (20% Fixed) 7
Total Cost per unit (to make and sell) 155

Prepare a budget for production of :

a. 8,000 units and

b. 6,000 units indicating cost per unit at both the levels.

Assume that administration expenses are fixed for all levels of production.
2@ Jymaullsd 10,000 gn@Gsmer 2 NUSH Qeuieugngmer Sl bl iulL

Qaaser &6 Q&ETHISSILL (HaT 6.

([ NS

U
eLpeuLI Gl (6T 70
&n60l 25
mmib Gsaeset (Chrig) 5
ommitd Gom GlFevess6ir 20
lemeuwimenr Gom Gl&eeysar (er.1,00,000) 10
Bliteursd Qaeeyss (em;.50,000) 5
allhuenerd Qasveyser (10% blemeviimeorg)) 13
alflCwras Qaeeysar (20% Hlenswmers)) 7
R Iodar Curss L&s alme (2musd 155
Qg ellme)

Slparayid 2 UGS eTeisEhsE Caand b (U Qo) surflés :

a. 8,000 9|eGSaT LoMMILD

b. 6,000 9jGS6T

@rewi(h) 2 MusSH eTeysaflid @ JeGSsTar QFaaSmers S igl ai.

flirurss Qaaasar saom 2 MuSGH geTaseaflain Hlamewimerg) eTars &mSaL.
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12.

Krishnamurthy & Co. has to choose one of the two alternative machines. Calculate

the pay-back period and suggest the profitable machine

Machine X Machine Y
Rs. Rs.

Cost of machine Rs.2,00,000 Rs.2,50,000
Working Life (Year) 5 5

Profit Before Tax

I Year 60,000 80,000
II Year 70,000 1,00,000
I Year 50,000 1,00,000
IV Year 60,000 70,000
V Year 40,000 80,000
Rate of Income Tax 50% 50%

Slmasemrepisd & Gasm, @remi@ wrmy Quidlmtisefls gCamid paTmME
Cairey Q& Geusmiid. SHl@pul Quud sren SansEIl B bhg @b

©ITLISTLOTEIT G 6T60TE SnMEULD.

@uiidlrn X @Quidlmn Y

- -
Quindlrgdlar oiss alme Rs.2,00,000 Rs.2,50,000
LweTU(h QyUL &6l 5 5
(O )
auflé@ eiTumer @eomuid e1b. 1B
YPS60 o607 (0 60,000 80,000
@\reuer_md gy 6007 (H) 70,000 1,00,000
ELGITMTLD 26007 (b) 50,000 1,00,000
bTEuT &M gy 6u0r(H 60,000 70,000
ohSTD )60T(H 40,000 80,000
aupLomeTeutl aigi 50% 50%

PG-C-720



PG-C-720 MCO-12

M.COM. DEGREE EXAMINATION DECEMBER - 2020
COMMERCE
First Year

MANAGEMENT AND COST ACCOUNTING

Time: 3 hours Maximum Marks: 70
PART- A (5 x 5 = 25 Marks)

Answer any Five questions

1. What is the importance of managementaccounting?
GLOELITEUITEMLD & 650T& HIEOI6HT (PSS GIEULD 6T 60T60T?
2. What is activity based accounting
QeweourL (B g LILIEHLUNCLTET &6TT&HHILIED 6TETMITEL 6T 60T60T?
3. What is standard costing?
&7 Q&6V6Y ETEITMITEL 6T 60T60T?
4. State is zero based budgeting?
@Bl SiglitenLuileomen aurey Ggae) Sl undl & mis.
5. State capital budgeting.

6L Getteure| Gley Sl Ll 6 s mis.

1 PG-C-720



6. From the following particulars calculate funds from operation
Salary
Depreciation
Interest on Investment
Profit on Sale Of Asset
Provision for Taxation
Interim Dividend Paid
Proposed Dividend
Administrative and Selling Expenses
Goodwill Written Off
Preliminary Expenses Written Off
Loss on Sale Of Old Machinery
Opening Balance Of Profit And Loss Account On 1/1/ 1987

Closing Balance Of Profit And Loss Account On 31 /12 /1987

40000
10000

5,000
30000
20000

30000
25000
10000
5000
5000
70000

120000

MNereu@md elleupmsefledi(hihg QFweoLTLIq.e0BHS HHmuws

& 6001 & & (1) Ml & 61T
gLDLI6TLD
Ggluiomerd (p&eSH Wgmer eullg
Qerg g elusmeruilev eomruLd
eufl NGl
QL S&HSTL FYHOHTMS
20000
peTQmPlwI UL 19ellQL6vor
Bljeuns WwHMID eflMHuUmeTr C&606 8 6T
25000
BOGILWIT GuTs6lsLpgis
47U QFeve &6 CuTS0SHWGIs

5000

Usnlpw @uihgpmisser ellhusmeruileo @LpLiL

40000
10000
5,000

30000

30000

10000

5000

PG-C-720



1/1/1977 @6v6vMULD LOMOMID @ILOLIL SHeworsHalenT @ (HLL
70000
31/12/19873160TM)| 6LMLILD LOMMILD @LPLIL SHevurdHEl6tT @) (HLIL
120000

7. Calculate break-even point in Rs

Rs.

Sales 6,00,000
Fixed expenses variable cost: 1,50,000
Direct material 6,00,000
Direct labour 1,20,000
Other variable expenses 80,000
guflome Lj6Terflenwl CIb.
el em 6ot 6,00,000

IHl6mELIITETT Q1 &F6V6Y & 61T 1,50,000

rMUELD aflemev:

Cmyy CQum(mer 6,00,000
Chylg 2 6mLpLIL 1,20,000
HNmwrm CQ&evey s 6T 80,000

8. Bombay traders are proposing to undertake a project at an initial outlay of this 50,000 and
expect to earn early net cash Inflow of 15000 for a period of 6years the company's cost
of capital is 10 % present value of Re 1 for 6 years at 10% per annum interest is rupees 4

.335 determine the net present value

Uuml  euj&SH&IsH6er @Qh& 50,000 UL QFevallsd
HLLHmG GCmAsmerer (Wer Cumfldlearmery, GLOID 6

3 PG-C-720



QUL STLHHMEG 15000 @\60T SLULOL HI&ST LI6WT 6u(HEUTHW
FLL erSyungsHmnjser HmielcnsHer cpeuger QFeve] 10%
SHGCUTmSW WEHLY €H.1-5G 6
QOB HSHMTET ULIN&HE % CHUML 4335 H&J HHCUTMSW
HLienL SFLOm6oh.

PART — B (3 x 15 = 45 Marks)

Answer any Three questions

9.

34,6901 (5 & (Eh & (S

10-5(5

From the following balance sheet you are required to prepare a cash flow statement
Liabilities 1998 1999 Assets 1998 1999
Share capital 3,00,000 350000 | Land 70000 86000
Profit and loss 20000 33000 | Stock 90000 100000
account
Current 90000 65000 | Debtors 120000 | 115000
liabilities
Cash 130000 | 147000

410000 448000 410000 | 410000
MNereu@pd @@Ly Hlemevd GMILLNeSbHE Hiser
Qs UL JMSHmE&EMmWS SWTHEHS Ceouevor(BLD.
QuIrmILIL&6it 1998 1999 Assets 1998 | 1999
UM cpeugerd | 3,00,000 | 350000 | flevid 70000 | 86000
6VITLI [HEIQL 20000 | 33000 | @@y 90000 | 100000
& 6001 5(
BLLULY Gurmitiyser 90000 | 65000 | gL esrmef&eir | 120000 | 115000

QurmILIL &eiT
4 PG-C-720



LI6OOTLD

130000

147000

410000

448000

410000

410000

PG-C-720



10. Calculate labour rate variance from the following Standard:

40 workers to work for 8 hours per day in a day and get paid at rupees 10 per hour
Actuals:
43 workers worked on average 9 hours per day in the five day week and were paid at

rupees 11 per hour on average

MNereumeusst eummledl(bihg QFmifleomeny afg wmmUTLemL &

& 6001 & & (1) Ml & 61T
Shlenev:

40 QgmNevTaTIS&H6NT 2 Hraflev e HTMENSHG 8 6ol CHILD
Geuemev Q&G c(h LO6vell CHISHMHEG 10 eHUML FOU6TD QUM

Geuevor(hLD.
QEwWeLLIT(h &61T:

DHG AFHTLHLOTATISHET uTIHH6L 43 QAFHTLHEOTATISHET (I
HTmeNSH G FITFHWNS 9 6wl CHID Geusmev Q& IS 6T

grreflums s(m el CHISHHME €H 11

6 PG-C-720



11. Draw up a flexible budget for production at 75% and 100% capacity on the basis of
following data for a 50 % activity

per unit/rs
Materials 100
Labour 50
variable expenses direct 10
Admin expenses 50%fixed 40000
selling and distribution expenses 60% fixed 50000

present production 50% capacity 1,000

50% QIFWI6L LML IqM&menT LeTeu(HLd FHFeyshefledt IiqLuemLuilev
75% LOMMID 100% HMET QST 2 HUSH &SI CHSILDEUIT 60T
UL Q®L ML 6UMIFLIO|LD

P ANG | JIJ.6T6M0

QuUT(HL &6 100
2_6mLPLIL 50
LOmMIG &6V 61 & 6TGHITLg. 10

BHIeUTSHLOSTELMTEUSITEISH www 50% [5161)6VLLIT 60T
40000
allHum e HMILLONHICWITSCFE06 &6 60% [Hl6T)CVLIIT6OT 50000

SMHGUTmMGHW2 MUSHH 50% HMET 1,000 H6V(SSH6T
12. Discuss various methods of capital budgeting
eweugen aure| s Sl LodCaim (WemmesT LMHM
elleur&& &6 Lb

13. Explain various types of budget.
L6LGeum| eumawen aure| GEne) S L allerd@mhiser.
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PG-C-721 MCO -13

M.COM DEGREE EXAMINATION DECEMBER - 2020
FIRST YEAR
ADVANCED FINANCIAL ACCOUNTING

Time : 3 Hours Maximum Marks : 75

PART- A (3 x 5 =15 Marks)

Answer any Three questions

1. Define accounting.
SEUSSLINE UMTIIMISHSELD.
2. Define partnership
FoL_L_M6TOI6MLD 6U6MIUIM)I&SH6LD
3. Whatis amalgamation?
62 (IHMIF T HFH6V 6T6ITMITEL 6T60T6TT?
4. State the meaning of Holding company.
gryemeul) HIMIQUETTSH ST QLITIHEMETSH Fom)s.
5. Define Good will.
BHOLWT  QUEDTUIM|&EELD.

PART - B (4X15=60 Marks)

Answer any Four questions

6. A.,B,Care in partnership sharing profits and losses in the ratio of 3:2:1. A retires
fromthe firm. The Goodwill of the firm is fixed at Rs.24,000. Pass journal entries for
the Goodwill when the Goodwill is recorded in the books.

A, B,C3:2: 1616010 NHGHHSHL Farl L MGo6mLd LIKTE Q6OMUIMIGET WMHMID pr i misaied
o _eiterient. A MU HeO\([Bh& spule] QUMIAMMY. HMIUETHH6T 5 Cuwi € 24,000
st6u1 BljewoUNSSLILIL (Hemeng). BLOLWT LSHSHSmiseiled L6 QaniiuGbGurg b
QuWImSSTET LSHFlens 2 snaf(bamen ispIliLia]LD.

7. Kndan Ltd. Issued 40,000 shares of Rs. 10 each payable in full an application as per a
Private placement agreement. The company received application for 40,000 shares.
Applications were accepted in full. Show journal entries in the books of Kandan Ltd.
ShG6T OUAALL eb 40,000 LRIGS6T QeueMuil L &I (% Sesnwimy Seutlepgise®
QRUUBSSS6OTLILG. 6261QeUM[H ETETITSTILILI(LALD (LP(HEMLWITE CQFISHSHLILL. GCorssur(hLd.
HMIGUETTLD 40,000 LIKIGSEH&HST6 aN6UUENILILGSMSL QUDMEGI. €X6TT6uTLILIMIS6T

1 PG-C-721



10.

11.

P(PEOLWITS FOMISCSTETOTILL L 6. SHetoil6tT OALL LSS Shiserled
SOLGUTRe_stefhsemens &L (.

B Ltd. Agreed to absorb A Ltd upon the following terms:

Shares of A Ltd., are to be considered as worth Rs. 12 each of which shareholders are
to be paid one quarter in cash and the balance in Rs. 100 shares of B Ltd., which are
to be issued at 25% premium. Total shares were:10,000 in B Ltd and 20,000 in A Ltd.
Ascertain the number of shares to be issued by B Ltd.

N oG MNesteu(hd NS WeDMEBeMET HigLiLmLUNEDL 6(H 6OIOCLL 2 6TeuMhIS
RULSQSTEIIILGI:6] OGO L HMIeUETHH6T LIRIGHET SO ¢ 12 Q&6
URIGSTITHEF&G @@ SHTeumen® QIméswrseal, g werar Qgmamns 1 eOlfGIL L
b 100 URIGSEMILD 25% LTSS QUPRISLILL 2 eTengl. QMg LRGSeT: L)
GOUAIQIL_L_ 10,000 LOMMID €] GOUAIGIL_L 20,000 1N OUAIGIL L. 6upHIG Ger6tvrg L
LIRI@GSHErM60T 61600160t 60 &H6mUl MBS QSITETEN &.

R, M, and J were partners in a firm. J died on 20 Feb,2008. His share of profit from
the closure of the last accounting year till death was to be calculated o the basis of the
average of profits of three completed years before death. Profits for 2005,2006, and
2007 were Rs 7,000, Rs 8,000 and Rs9,000 respectively. Calculate J’s share of profit
till his death.

‘9, 61 OHMID ‘G’ @k HmeuaidsHed unsTafsenms Qb6 G LLiyeurf
29,2008 SISTM QMHSTY. HLHG SHWISHHIIEL Yevor(h CLPLLILL L HeOBhH @i
QM slaung Qeomusdlen UG SaudSL UL Geausu(hid, @OUUSDHES (6T LTS
Qauniul L epsiim) Sy 6ur(h&elsst eomUGHest Frmafluen oilq LiLenLufNed. 2005,2006,
LOMMILD 2007 QYLD H,6001(HSHEBSHSBM6ST 6OMLLD (LPEHMGLIL €I 7,000, €6 8,000 LOMMILD €16
9,000. ‘G’ @MEGLD UM VMTUSHHET LIRINSES SH60&HE (H5

Explain the accounting concepts.

SEISSHILIED & (HHHISHSHMET El6T&H G MISEN.

P.,Q, and R share profits in proportion of ’5,1/4, and Y. On the date of dissolution their
Balance Sheet was as follows:

Liabilities Rs Assets Rs
Creditors 14,000 | Sundry Assets | 40,000
P’s Capital 10,000

Q’s Capital 10,000

R’s Capital 6,000

40,000 40,000

The assets realised Rs. 35,500. Creditors were paid in full. Realisation expenses
amounted to Rs. 1,500. Close the books of the firm.

19, S, OHMID QJ URKIEG @eomumiGenean v, 1/4 mmib 6ot e&HssH e uSTHSI
QaMTEM&6ITMEIT. HEMELSHSHLILL L CHHUTNL leufseilest @(BLILIHEMEL LN6TEUBLOTM):
QUTMILIL& ST | Re GCENgg) @
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12.

13.

&6
sLpEGsT I 14,000 | @57 Gerss 40,000
HH 6T
P’ &1 s ad 10,000
Q’ @r (psad 10,000
R’ &@r s a0 6,000
40,000 40,000

QETHGIHEHE CMh. 35,500. SL60T EUNRIGSBHITSHET (LO(LPEOLOWITES QFeVISHSLILIL L 63T].
2_6uIj&H6L C&F6EVEYSET ¢h. 1,500. HMI6UETHH6H LSS MmISBemen (.

Moon Rays Ltd. Issued 50,000 8% debentures of Rs. 10 each to the public at par, to
be paid Rs. 4 on application and the Balance on Allotment. Applications were
received for 48,000 debentures; Allotment was made to all the applicants and the
amount due was received promptly.

eLp6sr Grerv eOINGIL L 50,000 8% SHL_60T LISHNRIGEDET €h. HEVIM 10 QUITHILD &S EHSHE
Qen6TIITS, ¢h. ON6TIIETILILGHED 4 DHMID HISHEL_1q.60 @(BLIL. 48,000 &L 65T
USHRISEHEHES NCTIETTLILIMIGET QLMLILILL 61T; SI6M65TSHG| eT6TOI6T0ILILIS T T&(Erh SHELD
@§HEG QFWbULLE WHMID QFISHSH Coustuiqll QFHMTEnd 2 L 6vTlqUims
QuDUULL ).

M Ltd. And N Ltd, agreed to amalgamate on the basis of he following Balance Sheet
as on 31-3-97.

Liabilities M (Rs) | N(Rs) | Assets M(Rs) | N (Rs)

Share capital Rs. 75,000 | 50,000 | Goodwill 30,000 | -

25 each

P&L Alc 7,500 2,500 | Fixed assets | 31,500 | 38,800

Creditors 3,500 3,500 | Stock 15,000 | 12,000

Depreciation fund | - 2,500 | Debtors 8,000 5,200

Bank 1,500 2,500

86,000 | 58,500 86,000 | 58,500

The assets and liabilities are to be taken over by a new company formed called P Ltd.,
at book values. P Ltd’s capital is Rs.2,00,000 divided into 10,000 equity shares of Rs.
10 each and 10,000 9% preference shares of Rs. 10each.

P Ltd. Issued the equity shares equally to the vendor companies and preference shares
were issued for any balance of purchase price. Prepare Balance sheet if the
amalgamation is in the nature of purchase.

61D GOIOICIL L omMILD 67651 eAOIQLL, 31-3-97 CHluN6dTLilg. @ ([BLILH6M 6L SHemerL

MNeaTuMMILISHET SiiqLILIEHLUT6D 660TMIE06T0EHS 6RLILIGCISHTEIITL_&).

Quruiiyger | M(m) | N(e) | Qemdgissar | M(ep) | N ()
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14.

15.

16.

LRIG CLOGLSEITLD 75,000 | 50,000 | BoGLw 30,000 | -

¢h. HEO 25
U b L | 7500 | 2,500 | Blewev 31,500 | 38,800
SRS G QFTSH G5 &6T
&L a1 Gz 3,500 | 3,500 |&mé@uieiy 15,000 | 12,000
Caionar B - 2,500 | semsflaei 8,000 | 5,200
QUEIG) 1,500 | 2,500
86,000 | 58,500 86,000 | 58,500

QETEHHIHHET HMID QAUIMILLSET LUHSHS SN LT eOWDCL L 616D L
HMIUETHHTL MHISIL(HEGSHLUILL 2 6mermen. L OOGLL €LPELS6UILD €I .2,00,000
10,000 UM UMIGSTS €. §6OM 10 MMID 10,000 9% N(BLIL LKIEGS6T €h. 10
eelQeur(hL OHIGL L eMLemeuTlmen HMIeUTMISEh&HE FLOOMS LG
LUMIG&60en QUPRIGIIG HMID Q&merpngsd aNsneoullsst @LLSE (L6TenIflenLn
LRIG&6T ULDMRIGLILILL 63T, 62 (BRI QUTRIGLD SeTeniouiled @bh&med
A@LUURmeLS FMenensd SWIMflEEeLD.

Explain the different methods of accounting treatment of goodwill at the time of
admission of a new partner.

Q@ UHW Fal Lmeteny Cajs@ CrysdHed BNOLWIT &HemrsHuicoGSL TLmer
QeueuGauml (PEMMEBENET E6TEE MISE.

Explain the various ‘cost based methods’ of valuing Human resources.

6Ng euemmiGemen LSHLIN(HeUSMHSTT LLGeUMm ‘CF6V6] SligLiLiemLuNeomsor
(LEOMEEET QN6NTEHEGS.

Explain the different types of computation of purchase consideration.
QBTN G &H(HHHL LLCOUM| CUMSBUITEN SH6uSHEHSHEn6T e6IEHE 5.
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PG-C-721 MCO-13

M.COM. DEGREE EXAMINATION DECEMBER - 2020
COMMERCE
First Year

ADVANCED FINANCIAL ACCOUNTING

Time : 3 Hours Maximum Marks :70

PART- A (5 x 5 =25 Marks)

Answer any Five questions

1.

Define accounting.

SENSSHIIEMED QUMTILIMISSHELD.

Define partnership

FoL_L_ITEHUT60LD QUMIUIMISHE6|LD

What is amalgamation?

€2 (K RISV SHGH6L 6T6OTMIT6L 6T63T63T?

State the meaning of Holding company.

&miry smeuly HimieuendHett QUITHNETS Famis.
Define Good will.

BHGLWIT uMIILIMISSHELD.

A.,B, Care in partnership sharing profits and losses in the ratio of 3:2:1. A retires from the

firm. The Goodwill of the firm is fixed at Rs.24,000. Pass journal entries for the

Goodwill when the Goodwill is recorded in the books.

A,B,C3:2:161601) NAGHHHL Fal L Meuoienid LIKITE| Q6OMUIMIGET MMID B L misafed
o _eiteresl. A BIMIeITSHeO([BhH& spule] QUMIAMTY. Himiaueodslest BOGLWIT ¢15.24,000 6T60T
By ssiur ereng). BNGILWIT L% ssRiseNed uHey QeuutiL@ Gurg)
BHELIW(E &S M6 LsSsmisatlsd uhlalhs.

1 PG-C-721



7. Kndan Ltd. Issued 40,000 shares of Rs. 10 each payable in full an application as per a
Private placement agreement. The company received application for 40,000 shares.

Applications were accepted in full. Show journal entries in the books of Kandan Ltd.

BhGesT DAL ¢ 40,000 URIGSmeT Qeualuil L gl e SHewimy SH6otl eGS0

RUUBSHSH6T Lig eelCleum(h eeuoremliL(pd (LO(LPEOLWITE QFVISSHLILIL. Govstur(RLD.
HMIUETTLD 40,000 LIMIGEEh &S eXleiureuuiliLiGengLl QUMHME). eN6uu6euTLILIMIS6

(P (QPEMLOWITE FOMISASTETETILILL 6. Seior_e eMNALL LssshisaNsd GSHIIGCLTEH

2_emaf(hsemend &ML (B

8. B Ltd. Agreed to absorb A Ltd upon the following terms:
Shares of A Ltd., are to be considered as worth Rs. 12 each of which shareholders are to
be paid one quarter in cash and the balance in Rs. 100 shares of B Ltd., which are to be
issued at 25% premium. Total shares were:10,000 in B Ltd and 20,000 in A Ltd.
Ascertain the number of shares to be issued by B Ltd.

M NG Mesteu@d NP SailsiT g LlienLuled ¢ NGO 2 6TeuMhIS
RUUEQSTEILG: ¢ ONCALL  HNeudSHet URGSHeT Geom ¢h 12 Q&6
LRIGSTITSERSS @G STeoman(k Qrméswnseb, g weren QsTms 1N 6N L
€h.100 LUMIGSeMID 25% WNFOWSSHD CUPRISLILL 2 6o GG URGSsT: L1
GOIAIGIL L. 10,000 LOOMILD 6] OUAGLL 20,000 1N OUAIGIL L. 6UDMIS Ceuevuniglil LIk & erMeor

aesEEmEmL 2 mid OlEuIs.
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Answer any Three questions

PART - B (3 x 15 =45 Marks)

9. R, M, and J were partners in a firm. J died on 29t Feb,2008. His share of profit from the

10.

1.

closure of the last accounting year till death was to be calculated o the basis of the

average of profits of three completed years before death. Profits for 2005,2006, and 2007
were Rs 7,000, Rs 8,000 and Rs9,000 respectively. Calculate J’s share of profit till his

death.

‘9, 61D’ OHMID Gy’ @@ HmieuaidHed unsTalsams Qhgenny. G Mo
29, 2008 SIGHIM Q@OHSTT. SLbHG SEUSHLID W@ (Pgaled @i ey 6urs)

Qeomus Hlein LURIG SEUSALLIUL Geaugui(Rd, @OULSMHS (W6 LJHSH Qe L

cpetim - eini(hSelledr  eomuGHenT  FHmEFluller g liLenLuNeL. 2005, 2006, WHMILD

2007 541D YII(HSHEHSHSMeT 6OMUD (PemMGIL ¢6.7,000, ¢5.8,000wmmitd €5.9,000. ‘Ggy

AMEHGD UM LMLISHET LIRINSS SH600sHE (5

Explain the accounting concepts.

SENSHEIID &([HSHHISHHMeT eSS MG,

P,Q, and R share profits in proportion of 4, ¥4, and %4. On the date of dissolution their

Balance Sheet was as follows:

Liabilities Rs Assets Rs
Creditors 14,000 | Sundry Assets | 40,000
P’s Capital 10,000
Q’s Capital 10,000
R’s Capital 6,000

40,000 40,000

The assets realised Rs. 35,500. Creditors were paid in full. Realisation expenses
amounted to Rs. 1,500. Close the books of the firm.
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12.

13.

19, &l OHMID S URIEG QeoTUmIGneT /2, V4 WOHMID Vi e160tm NHHHHL LSTHSI
QamendHeTmen. HmeL&SLILLL CaHulled sieufseatsor @hLILBeNeL NeiTeUHLOTM):

QUIFMIILESET | @ QNHGIHEET | OB
&L BT i 14,000 | @30 40,000
Q&S G15HS6
P’ &@r wpsed 10,000
Q’air s ad 10,000
R’&r pged 6,000
40,000 40,000

QETHGIESHET €. 35,500. SL6TT CUPMIGHITSHET (L(LPEDLOWITE QFVISSLILIL L 6vT1]. 2 63TH60
Q&eLEYB6T €. 1,500. HmieusTd it Ligssmiamer Lglal@bs.

Moon Rays Ltd. Issued 50,000 8% debentures of Rs. 10 each to the public at par, to be
paid Rs. 4 on application and the Balance on Allotment. Applications were received for
48,000 debentures; Allotment was made to all the applicants and the amount due was
received promptly. Make the entries in the journal.

6ot Grerv e0IDIGIL L. 50,000 8% &L60T LISSTMISEMET €. &6V 10 QLT LSS EHSHS
@ 6n6TuTILITS, EX6TUIETILILIGH6L €h.4 MHMID RHISSL1.60 @(BLIL|. 48,000 &L_65T
USHNHISEHSHES 6X6TemILILIMISET GILMLILIL L 6IT; SI6M6aT&H G| 6XGHuT6uuTLILIGTIJI] &E1h&HEGLD
@5168H QEFWLULL & HMID QFIHS Ceusttnqll QHTens 2 L 6vllqUiTs
QuDUUL L& GHLGULIpsd uSlalBs.

M Ltd. And N Ltd, agreed to amalgamate on the basis of he following Balance Sheet as
on 31-3-97.

Liabilities M (Rs) | N(Rs) | Assets M(Rs) | N (Rs)

Share capital Rs. 75,000 | 50,000 | Goodwill 30,000 | -

25 each

P&L Alc 7,500 2,500 | Fixed assets | 31,500 | 38,800

Creditors 3,500 3,500 | Stock 15,000 | 12,000

Depreciation fund | - 2,500 | Debtors 8,000 5,200

Bank 1,500 2,500

86,000 | 58,500 86,000 | 58,500
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The assets and liabilities are to be taken over by a new company formed called P Ltd., at
book values. P Ltd’s capital is Rs.2,00,000 divided into 10,000 equity shares of Rs. 10
each and 10,000, 9% preference shares of Rs. 10each.

P Ltd. Issued the equity shares equally to the vendor companies and preference shares

were issued for any balance of purchase price. Prepare Balance sheet if the amalgamation

is in the nature of purchase.

61D GOWOIQLL. LOHMID 6T6d OAL L, 31-3-97 CHHUN6HT Lig QLY Hemev GmMlinle

MesTumOIL 60T g LILIEHLUT6D €R60TNI6NEMISHS €RLILISCIHTETIILS)l.

QUITMILILS6NT M(ep) |N(ep) | QEmpgissen M(es) | N(en)
LRI CLHEVSEITLD 75,000 | 50,000 | m@GLWIT 30,000 -
€M, SO 25
TLI LB DILD 7500 | 2,500 | Hevev Qanggiéaet | 31,500 | 38,800
BLL S5 S
&6l GHmiT 3,500 3,500 | ers@ulmly 15,000 | 12,000
- 2 sLermeflaar 2
Catione 58 500 8,000 | 5,200
QB &) 1,500 2,500
86,000 58,500 86,000 | 58,500

QEMg 66T OHMID QUTMILLSET L$SHS SN (N eOUNCL L 6T6rm LSl

HMieETHSTeL M&HWSILGRSSLILL 2 eersor. LN OOCILL eLHeUSEILD €h .2,00,000 &

10,000 UMI@ URIGSETS ¢h. $6OM 10 MMID 10,000,9% eN@GLUL LRIGS6T €h. 10

e@6ICleum@h 1N OUHIAL L elMuemesTeny HMIQIThSEH&H@ FLOTS LREG LhiGS06T

QUPMRIHWIG WLOHMID CSTETLNSHL eMemeouilsst QBLILSGE (LETEDIFEND LIMIG &6

QULDMIGLILILL 60T, 62(HRIKMEIILIL QUMRIGLD HesTemouNed @QEHeTeL QhLULIHmELS

@llemu gwmfésab.
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PG-C-722 MCO-14

M.Com. DEGREE EXAMINATION - DECEMBER 2020.
First Year
MARKETING MANAGEMENT
Time : 3 Hours Maximum Marks : 75
SECTION -A (3 x 5 =15 Marks)
Answer any THREE questions.
1. Is marketing an art or science? narrate.
ghamaullms e Smewm gjwng Jfladlwuer? amhis allarfl.
2. State the concept of product life cycle.
Qur et guwet spndl CUTSISSHSDS Snmis.
3. List out the various levels of chennels.
ueGaum euPmIS Blamesmerud auflmasubhiSg)s.
4. What are the factors that govern the selection of media for advertising?
elleriouy srgem CHMHEESHLImU LTSlss&an lpwl STenilgeT WTene?
5. What are the various instruments that are used for collecting information in marketing
researches?
spmsuilpms grmiglsaflsn ssaumus Casflssi LwWaTUHSSILBL LGN
&(HedlG6IT WITEne?
SECTION - B (4 x 15 = 60 Marks)
Answer any FOUR questions.
6. Explain the bases for market segmentation.
ghmsl UGUInasrer gjpliLmLsemer ailoutl.
7. Discuss the advantages and disadvantages of branding.
susmilal QLWIleugTed FHLGHLD FeTemwgeT LHNID SenLsamer SabSTuie| Gl
8. Explain the various kinds of pricing.
allemev EliTerorgdlenr LG aumEHEmeT 6l ESHS
9. What is a advertisement copy? Explain its characteristics.
edleTLbur a6 eTeTmTeD 6TeuTeor? BygeuT FimiwedLEHener ellonm s (Gs.
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10. Describe the procedures of conduction a marketing research.
snmsuilpms guialar Qewspsmmullsner ailaufl.

11. The middlemen can be eliminated, but his functions cannot’. Discuss.
‘@bl puTseT SalT&HSIULMTD ILETTo IeUTsHmg Usmilsear SHeali&HsiuL
WPewrg” sabsmie| Claiis.

12. Explain the functions of marketing in details.

ahmaull(haeler Lsflsmen allemd @s.
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PG-C-722 MCO-14

M.COM. DEGREE EXAMINATION DECEMBER - 2020
First Year

MARKETING MANAGEMENT

Time : 3 Hours Maximum Marks :70

PART-A (5 x 5 =25 Marks)

Answer any Five questions

1.

“Marketers can create needs”. Do you agree? Give reasons to support your answers.
“FHMGLILMLSGHILUTSHET CHEMEUBMET 2 (Hh6UTHS (LG U|LD”.
Prigen lls QesmenHNIsanm? 2 mG6T LSS Y &f&Hs
STIETIRISENETSH FoM)RIGET.

. In what aspects can family influence buying behaviour?

TS @ GSOWUD QurLser aummi@Gautlear CurEmas &L EUOSS (LppULD.
State any two sales promotion methods.

@uewi(h eNpuenes CLOLUML (B (LPEMHMSEMETUD Fo M.

State the importance of personal selling.

SefllUL L emUm6TuN6sT (PSHUISHIUSHMS & mis.

. Write on the relationship with marketing and other functional areas.

FhemsLLBRSHSHeL OMID M CFWEOUTL (G LGS S EhHL 60T 2 MemneLl
umbl sgis.

“You can eliminate middlemen but you cannot eliminate the functions of middlemen”.
State.

BRI QL SSTEISHMAT ASHMDIGULD, Sp6mTeD
QML §57&TS&6M6T CFUILLT(HSHEMET 2 RISGATT6D HHMHM
Wiguing| ~. Ghlii@s.
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What do you understand by product mix?
QuIT e HEVENEUUITEL [BRIG6IT 6T6dT6oT Lflh& C&MeTHDj&He?
Write down the basis for segmentation of consumer market.

BISTCEUT] &hHeng uGlumiassTar g LILIEHL DI aenrws.

PART-B (3 X 15 =45 Marks)

Answer any Three questions

0.

10.

11.

12.

13.

Explain the process involved in product planning and development.

Qurger SIL_LLOIL6L WOMID 2 marsssdd F(HUL GO QFUID (LDEMMEmIL
aNen& G mIG 6.

Discuss the merits and demerits of various sales promotion methods.

LeLGeum eNmusnen CLLUTL G (Wenm&eailer SMLUL&GET LDMHMILD
GemmUT(hH&enenll LmM NeuUTHESeLD.

Describe the effectiveness of product life cycle in determining suitable marketing strategies.
QUITHSHHLOMET &FhHenGLLEBESHL 2 G&lsemen FFomeNlLGled GQurme
QUMDSHMS &LMEAUNHT QFWweLEMmene aleaufl&sea]LD.

Technology and Technical change are both cause and effect of environmental change —

Elucidate.

QFHTLHILHIL LD WOMID CQFHTLHEOHIL LDTHOLD S &llened &FHMmIE & LHeL
LOTHMS ST SMPewId WMMID elenere] - CFeaNa|Ubh s &isev.

What do you mean by advertising effectiveness? How is it measured?

ellembuy QFWILHMEIT 6T6OTLIH6 THSHLD 6T60T651? @G| 6T6UUTM)]

Sl LUGHMGI?
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PG-C-723 MCO-15

M.Com. DEGREE EXAMINATION - DECEMBER 2020.
First Year
ADVANCED BUSINESS STATISTICS

Time : 3 Hours Maximum Marks : 75

SECTION A (3 x 5 = 15 Marks)

Answer any THREE questions.

I.

What do you mean by statistics? What are its uses?
Ly6T6M @f) IS T GTEHTDTe) GTEHTEN? <2/ 6¥T LT 56T 6TaHT6HT?
What are sampling and non-sampling errors?
@A ot IS SywTs e pser ereia’?
Five coins are tossed 3,200 times. Find the frequencies of the distribution of heads
and tails and tabulate the results.
eng prasmwsiser 3,200 wen SIS aPWLILIGDFTDT. SESET LOPDILD TS 6T
D CUTsEB e B0 auesHTEmaTS HEHTL MaLb.
One card is drawn at random from a well-shuffled pack of 52 cards. What is the
probability that it will be (a) a diamond (b) a queen?
52 e _safar parg wippLUL L QsTELBES @@ L L FIHn Lo uiled
u@TwliLGEPS. 251 (91) @aigd () srelluns QwsGLb b5 S%a) eTerer ?
In a hospital 480 female and 520 male babies were born in a week. Do these figures
confirm the hypothesis that males and females are born in equal number?
R LoGSSIumaTuie) @ uTrSHed 480 GlLiawt wpmid 520 e GLppmsseT
pEseT. SyeTs s OLas e s caadmauled LnEsaisar aam
5551 GsTener Lyaefafaumisar o pISLILIBSgF e arain?

SECTION B (4 x 15 =60 Marks)

Answer any FOUR questions.

6.

Explain the different methods of collecting the primary data.

&t sgemeu GFsfa@d GleualGaun LpenFH®ar allersEs.
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7. Explain the various methods of sampling.
w1 Auler LedGain (LpeopFHear aiersEs5.

8. Calculate the Mean, Median and mode for the data given below:

Daily
] 50-53 | 53-56 | 56-59 | 59-62 | 62-65 | 65-68 | 68-71 71-74 | 74-77
earnings (X.)

No. of

persons

GG ClsThs5LILIL B eTeT SI6 % @5SHT68T FITF, FITFS PMILD LILIGTLHEH DG WL

56515 %) () %:

Sesta]
QBT 50-53 53-56 | 56-59 59-62 62-65 | 65-68 68-71 71-74 74-77
X))

[BLIT 61 GoT
3 8 14 30 36 28 16 10 5

CTGST GO %S

9. Find if there is any significant correlation between the heights and weights given

below:
Height in 57 59 62 63 64 65 55 58 57
inches
Weight in Ibs 113 117 | 126 126 130 129 111 116 112

GG CarhssLILL GaTer 2 wIB%Esd@GLD eTenl sl @ent Guw aGseyd
@OILLL_$55% QSTL_ L] Q) BEFDST 61T HETL MWy LD:

o wgLh 57 59 62 63 64 65 55 58 57
<9I 5] (G 6V 1515 &I

GTGOL 113 | 117 | 126 126 130 129 111 116 112
116 655T(h) & a1l 60




10. Eight coins are tossed at a time 256 times. Find the expected frequencies of success
(getting a head) and tabulate the result obtained.
@b CprgHed 61" B prewiwmsar 256 wpewp 188 eTwLiLiRHeipest. Q)6 Gleup i)
(semovenwLi QOLIDIS®) THTLTTSSLILIGLD 4B T0)6UcHIFH®aTSE FessTL_PWeLD LoD DILD

Qupliu’ L wpigemer L L a1eneTLiLI(h)SS55.

11. A certain drug was administrated to 500 people out of a total of 800 included in the

sample to test its efficacy against typhoid. The result are given below:

Typhoid No typhoid Total
Drug 200 300 500
No drug | 280 20 300
Total 480 320 800

On the basis of these data, can it be concluded that the drug is effective in preventing
typhoid? (Given for V = 1, * 0.05 =3.84)
SL_LT(EE a@rer g Qeuad@namar Gen@a@L wrBfad Quwisss 800 Gufad
500 Gu@s® @@ GPUIL L w@ES epESLUL LS. AupDEr (ipyeser GG

CaTBHESLILIL (HeTengy:

Lumi® | oL umui® | Gorgsib
Q@) evenev
PCLE 200 300 500
GLETRORNE 280 20 300
ClorggLd 480 320 800

12. From the following regression equations find the mean values of X and Y

series. Given that the variance of X=9.

8X —10Y =-66
40X - 18Y =214

Find: 1. Average values of X and Y




Correlation coefficient between the two variable.

Standard deviation of Y

Sesraupis Kararen ey swar@®satampg X wppis Y @ somsf wHLiLsmarns
se_pluas. Osm_fer X=9 @ar wipiun® Qsr@ssLiuL Harens.

8X - 10Y =-66

40X — 18Y =214

sa®ly: 1. X wpmibd Y sonsf w@iiysar

Qe (® wiPE@ @ ulevmer QST GeisiLb.

Y Qe glenevwimes aflevsed



PG-C-723 MCO-15

M.COM. DEGREE EXAMINATION DECEMBER - 2020
First Year
ADVANCED BUSINESS STATISTICS
Time : 3 Hours Maximum Marks : 70

PART- A (5 x 5 =25 Marks)

Answer any Five questions

1. What are the merits of Secondary sources of Data?
S705efar @uaL_TbEle e 2ysTIms e 5@&8sar wirama?
2. Distinguish between correlation and regression.
L (hme] Lmmih UeteramL ey uGlumile) GTLT whmib UleTsreamL ey
S Slwanmn CanuGiSss.
3. What are the merits of sampling?
wr®Aier AoLiyser wreeu?
4. State the characteristics of Hypothesis?
S(HGICHTaTenT HOUNLICOLISHENET & mis.
5. There are 5 green 7 red balls. Two balls are selected one by one without
replacement. Find the probability that first is green and second is red.
5 udes T Paiiy UESISaT o etetar. @QUeN() LBSISET  LOIHDILOG
aIQ e s GsiE0sHEsLiL PRI (L5 Ldas DI @)L Tals)

FlouLiL] TSN BIHLHSFHWaUS STl D%,

6. Discuss the various methods of collecting primarydata.
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wsarend SN Cssia @) LOGam (epEeartl LPD aileuTHss.

7. The marks obtained by 30 students of Class X of a certain school in a

Mathematics paper consisting of 100 marks are presented in table below. Find

the mean of the marks obtained by the students.

Marks 10120 | 36| 40| 50|56 | 60[ 70| 72|80 88| 92| 9
obtaine 5
d (x;)
Numberof | 1 |1 (3 [4|3[2]|4|4|1]1|2]3]1
student (
1

@b GO L verefluier LgsTbeu@LiL wrameuiserted 100 @0 Lesyser
Qe senflagmafied QupLiu’ L @G Lewsar EGLp 2 rar

9L L cuenessTuiled 6uLpBISLILIL (RGTGTGS. LOTewTeuiHer GlLmpm LoB)Li0)Lessrs el Gsr

FITFH WS FWTL_D)%.

QupLiu’t 10120 361 40| 50|56 60| 70| 72180| 88| 9219
1B G LIGsT S G
(x;)
wreweugsener | 1 | 1| 3|43 2144112 3]1
eTessTaws & e (

/i)

8. The table below shows the number of absences, x, in a Calculus course and the

final exam grade, y, for 7 students. Find the correlation coefficient and interpret

your result
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GG arer oL L eusmenTuiled HredGevad LITL GEPulled X, @)6OVTSH LOTEHRT6UT % GST
eTewTess Genas  PmId 7 wieTaisersd QmiS Csieaysgd, YyFweupeps
ST QGG COFTL_[JL] &HeT5S58 FTBHLIY SH 2 BIS6T (LpLg e alaTs s,

X 1101264 ]3]|3

Yy 185 8|70(55] 9 |90]95
0 0

PART - B (3X15=15 Marks)

Answer any Three questions

9. Describe briefly main types of sampling methods.

LIS (LpennFafl G F(HESLDTS (LPEFNIUHSE T a6 Fls 5.

10. Explain the Types of Regression.

LI GITGSTGOL_ Y CUGHE ST ) 61T S ().

11. Explain the Process of Statistical Hypothesis Testing?
yeref afleugs wgICsmer Lifl Gengemaruiler QFwedLpammen s afeTd @ mISar!

12. Explain the significance of the study of correlation.
LGN LpPw oy uie)aT WD wSSHages aflars Fmisor.

13. Explain the Merits and Demerits of Sampling Method of Data Collection.
srey CesflLifer or@f e ullesT FpLiLE6T LOHDILD &eD LIT(H ST ai)6Ts 3.
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PG-C-724 MCO-21

M.COM. DEGREE EXAMINATION - DECEMBER - 2020
COMMERCE
Second Year
FINANCIAL MANAGEMENT

Time : 3 Hours Maximum Marks : 75

PART- A (3 x5 =15 Marks)
Answer any THREE questions

1. What is capital budgeting?
epevg et UT|OFSILLLD sreirmred erairen?
2. What are the components of cost of capital?
eLp VB 68T O)FeV A GBI I DI GIT WITEH G ?
3. What is operating cycle?
QUESHIPD S GTID T 6T6HT6HT?
4. Write on the types of leverages.
QriySmeT aievaseman TLYSIS.
5. What are the objectives of inventory Management?

5753 OLIQTEIOTEND Gp1ssEis5 e 6Teven?
SECTION- B (4 x 15 = 60 Marks)

Answer any FOUR questions
6. Define capital structure and explain its features.
PGS SLL_GOLOLIGHLI UGH TWMISHHI ST I LOF/BIH AT Q6T G 5.
7. What are the advantages of adequate working capital?
GungjLomest HEDL(LPEDN eLpcv S 6oTS PG [6GTGHLOS G GTGITGHT ?
8. Explain the various methods of preparing cash budget

LiewT augey OFwes L L Gews SWTHLILIFDST6T LI Cauml (LpewneHemar aflars @b,
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9. Wsrite short note no:

a) Credit period
b) Collection cost
c) Bad debts

d) Sales volume

Fmi@mLy eTPSIS
a) sL_erETeVLD

b) GesflLiy QFaway
C) QN &1_crgar

d) a9pLeoeT oeray

10. Define dividend policy. Also explain the nature of dividend policy

760505 M160% QST W aUIWNIFSaLD. T6F0lGTenEs 0% M6TensUNGT S6T6H LD WILLD

aflers 3 5..

11. Stewart Ltd. Has 40,000 shares outstanding. The current market price of these share is

Rs. 15 each. The board of directors of the company has recommended Rs. 2 per share as
dividend. The rate of capitalization appropriate to the risk-class to which the company
belongs is 20%.

Based on MM approach, calculate the market price of the share of the company when
the recommended dividend is (a) distributed and (b) not declared.

How many new shares to be issued by the company at the end of the accounting year
on the assumption that the net income for the year is Rs. 1,20,000 and the investment
budget is Rs. 2,80,000 when (a) the above dividends are distributed and (b) dividends
are not declared.

Show that market value of the shares at the end of the accounting year will remain
the same whether dividends are distributed or not declared.

aveafl " 40,000 umiGser Blaemaiuied 2 atarg. QBs LBF e pGLTmSW
Fpes  dleveven. sor 15, plneeTs@er QuaGpiseaT G eb.@RBUBISDG 2
7oy Qs revswns. Hlpieed Gsits QLT eau@Liin @ QUTESSLOMeT ApeSeaT LOWILDTEH6)
afz0 20% <G Lb.
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12.

prar. MM sjami@ wpeopuier oyt uie, LfpsoIssUUl L Fas6smamas ()
A BCwrRssLILL B () Blelssliu_1s Cungy Blpaeagear LS aEFbeas aflemevenw

56515 5 () .

iil. gyergar Bler eueponerd en. 50 616D eI OTTSH T 1 LiLieL uled &HewTsH)ed
2T T QMBI BIMIUGTLD 6THSeWaST LIS LimlGHsear auLpnisGeuesst(b. ep.1,20,000
wpmId P SL B LGl ep. (<) Cupsesi Fag0sres alBCurHssiu®w Cumg)
(<o) FoysQsrens yPafdsiui_ng Gumgy 2,80,000.

iii. somsHwued yevrger QmiFuied UBIGsalar FEmSLGHLIL  Feys0FTEns
AN CwrEssLiu L ned yPleailssiiv_mill L neyd Liug Gu @ @BsGLD CIRTLI®SS

ST (h .

Taylor Ltd. has an average selling price of Rs. 10 per unit. Its variable unit cost is Rs. 7,
and fixed cost amounts to Rs. 3,40,000. It finances all its assets by equity funds. It pays
50% tax on its income. Bhatia Ltd. Is identical to Taylor Ltd. Except in respect of the
pattern of financing. The latter finance its assets 50% by equity and 50% by debt, the
interest on which amounts to Rs. 40,000. Determine the operating and financial
leverages at Rs. 14,00,000 sales for both the firms.

QL uievg oMAGIL L sgrefluns ep. g Wl ®s@ 10 epumul. @serony sew@ CFway
e5.7, wppid Blevewner Ggwayen. 3,40,000. Qg osar ywaIsg 0F1551%%56@HSGL
FsiL gL (hsarTed  BFwelEHns. @& ws@ET  uGrarsFng 50% e
OegaSng. urliqur AL L" Grdiews MACL L oL T RSBBSFDSGI.
B@wpepawl Cuingsaemy saily. ar ysear Gensgissamaer 50% maaill y wHDID
50% s eapevs pHwelsEng, Qsereur’yes. 40,000. Qués wpHmid BFeugidry
senaren. ()@ plmieuestEs@ps @ en.14,00,000 o pme.
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PG-C-725 MCO-22

M.COM. DEGREE EXAMINATION - DECEMBER - 2020

Second Year

SECURITY ANALYSIS AND PORTFOLIO MANAGEMENT

Time : 3 Hours Maximum Marks : 75

PART- A (3 x5 =15 Marks)

Answer any THREE questions

1. What are the objectives of Investment?
(pBESL 19 651 BB155EIS 6T eTatian?
2. What is unsystematic risk?
apeopwpm @I erasinmed ereires?
3. What are the methods of floating of new issue of shares?
umigsaiar B w Geualuf oL 1sEGLD LpeonSaT wWreneu?
4. Discuss different Applied Valuation Techniques.
QeualGeaup LwaTLT ® PTG Bl LuBiserl) DD oflealTHEs.
5. Difference between Fundamental Analysis and Technical Analysis.

QL LiuenL LGLUMe wppd QOsmfleds L ugLiumiey Qe Gu Goumyim®.
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PART-B (4 x 15 = 60 Marks)

Answer any FOUR questions

6. Discuss the approaches in portfolio construction.

QESTSHUSH B 5" HorersDe oewiipapEmerL Lpp oo THss.
7. Explain the various functions of SEBI

Qe uiar e Gaugy QFwe LTS 6T ofaTs 3.

8. Explain efficient market theory in detail.
D)oo owrest FEems sGsTL LT enL_ aflfleuns aflers@s.
9. Explain the various Market participants in the capital markets.
ELPVS T FBSH a6V LI Goums Fheng LimGCEpLITaTISH® T ailand &%,
10. Explain the different types of investment risk
LedGauny auemswreTLpseSL B BILT afersEs.
11. Briefly describe the advantages and disadvantages of CPAM.
CPAM @er petieoosar opmid SeoLosaT LP D &HeSL0Ms aflaflss.

12. Explain the classification of Industry analysis.

Osmfledgienm LIGLILTIIGT auensLiLTL oL aiers@s.
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PG-C-726 MCO-23
M.COM. DEGREE EXAMINATION - DECEMBER - 2020

SECOND YEAR
INTERNATIONAL MARKETING

Time : 3 Hours Maximum Marks : 75

PART- A (3 x5 =15 Marks)

Answer any THREE questions

1. What is the International Trade?
FiouGsF auisssmS aes @ mISaT?
2. What is Legal Environment?
FL L @Ipad GTGHDIG) 6TawTe0T?
3. Write a note on Quota system as Non Tarrif Barriers
R3IGBL G pevp G085 GPlLieou s L anniflevevns 6Ul HEMLEEMET craimy
CI(LpGIS
4. What is the Services Export?
GoenauseT gpmiLoG) 6TETMITE)  6T60T60T 7
5. Whatis concept of BOT?

BOT Qe g5 eresies?
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PART-B (4 x 15 = 60 Marks)

Answer any FOUR questions

6. Outline the various features of international marketing and explain the restraining forces

in International Marketing
Fi0uCsF Fhew S LILIBESISOIGT LIV Caum oyLbFmigemer CEmg L H&sTL 1q, FiouCsa
FE®SLILIBHS SIS0 &0 GLD FEHHemaT ail6TsSH%H

7. Write a note on letter of credit and explain the various problems of India’s export
sector?

FLGVT 5195550 @ GPlLicvLs e1pB) @) pFwTeileT 61 miLo B gIewpuile L Gaim)
PESVHMaT @655 ?

8. What is Global Economic environment? Explain in detail. Discuss the role of IMF?

2 evsarmallw ClLUITBETISTT G TN T eTeet? FieuGse Hrewiw BB Iws S LiniE
upmm ofeun@ss

Q. State and discuss the features and advantages of international marketing
FiauGss FBmSLILIB)S SIS I LOEFBISAT LOPDILD B&TeH DS 6T GB5S aflesTHSS

10.  Explain the modern theory on international trade. What are its drawbacks?

FiauGsF UiGSHLD GHUISS Baier CTL Lml e aieTs @G mEISar. HFT GHDLTHE T
GTGTGNT?

11.  Discuss the constituents of international marketing environment with suitable examples.
i01Gss ELMSID @ 1pafle o pisear OLITGSSL0T6T 1B SZIGHTL HF@HL T
AN TH S5

12.  Write a detailed note on international marketing mix

FI0uGHF FEaSLILIHSS® Hevanal GISS5 @ilfeuTet GmILien L 6T(LpSI%
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PG-C-727 MCO-24

M.COM. DEGREE EXAMINATION - DECEMBER - 2020
SECOND YEAR
HUMAN RESOURCE MANAGEMENT

Time : 3 Hours Maximum Marks : 75

PART- A (3 x 5 = 15 Marks)

Answer any THREE questions

1.

What is the scope of Human Resource Management?
eheuer Cuaraimuuiear Chl sl 61l w2

Explain the training at different levels.
Qeull CGeull Memevsanll LIHEAmW & mys.

How will you analyze a job?
el Geusmevemw 61l eunll wl Ournl 0 Q&l eullsl 2

Explain their usage for recruitment and selection process.
ol Gl wll [ Csll Qswl [ eomll oieul Ml LWl unl e

&a 5.

Explain the procedure for redressal of grievances.
[ eomaemenl sllusl smer peoLl menw smyes.

Write down the Role of Trade Unionism in India.

@l swreull QemAl &l seursl HI vl [ ul A syas.

What is job description? How does it differ from job specification

Ceuemeveulbnll sl 61l mll 61l 6o1?2 Couemeveulbunll [ Mlubal 00 @l
61l eurll Geull ull &ml .

List out the importance of Worker’s participation in Management.
Rleursl & Qgmfeomer] vl Csl ugl 1 0&WID eull s
auflenaLbSgs.
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PART- B (4 x 15 = 60 Marks)

Answer any FOUR questions.

9.

10.

11.

12.

13.

Give an account of changing trends and challenges in HRM.

HRM @0 om eull [ Gunlll & wll 0 geunl sl 0 Al & dafss.

Describe the nature and importance of employee selection. Explain in brief the steps involved in
selection procedure.

uesorllumenll Calleull &l eww Il I 0 [Hwll eul ems
aubul [ sl [ Call peorl empwll o0 e Ul Hmesmer [0 [ swoms
eulbnl 1 [ &[0 .

“Accurate appraisal of performance is very difficult” In the light of this statement discuss the
problem in performance appraisal.

“Qewl Hmeuwll [ 0 eSwormesr wHlul Nsl 1 &l el » @l
Nl cmawll Qewl Sl wHIulID 20 er O semeoll wl M
eulburl sl [ .

Distinguish between base compensation and supplementary compensation of labour.

ol oo @ulul wll [ 2emwplul [ enewr @l uill
p&Aweull emm Geull ull 00 0 &l

What are the objectives of wage and salary administration?
sarluill wl 0 [ &l uen Aleursl HI Cunll 80 &l wmemeu?
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Time : 3 Hours

PG-C-728 MCO - 25

M.COM. DEGREE EXAMINATION - DECEMBER - 2020
Second Year

INTERNATIONAL BANKING AND FOREIGN EXCHANGE

PART- A (3 x5 =15 Marks)

Answer any THREE questions

1.

State the function for international banking .

&MeuCsHd eURISHIUNCL usmflsmer dom)is.

Write a note on Forward Rate Agreement (FRA) ?
LeICEmeHS afd eUubhdLO (FRA) GNDIHG @ &ML

61(QSIMIGEN.

What do you mean transaction exposure?

uMeunddenest GleuedlLiLm(p 61631MITEL 616016012

Write the different forms of lending risk.

SL6OT aUphIGLD @L M LeLGCauml 6llg QUMISHENE 6Tigis.

What is bilateral netting ?

ALY Helmeaudenen QencmidHdHe0 6165IMT6L 6165160172

Maximum Marks : 75
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PART- B (4 x 15 = 60 Marks)
Answer any FOUR questions
6. What are benefits and complexities of international banking systems ?

&MeuCsHa euUmISH emLaLILSHaM6TT HetTenLasH6eT LMMILD §l&HSHeVE6N
61601601 ?

7. Discuss the different methods of exchange control.
SibHliw Glgeomeuem wrmm &L (HLUUML g6 GleusuGeum)
emmaemnenll UMM alleundlébseLn.

8. How do the exporters and importers hedge in the market for currency options?
bIesoil e (HLULMISELHSHTES &hendHUNed JHMILAGILITONTITSEN
LOMILD QMSSLOSIITETSHET sTeUUTM LITSHISHTSHEHMMTITEHEN?

9. Isinternational working capital management is more complex than the domestic
working capital management ?

"o enbML(h Q&weounl_ (b oLy CLA6VS 60 Cuemsmismin 6L
&MeuGsHe Qaweounl (b meLem CLALVGE GLOELTETIIENLA LA&ELD
5o gHeomen . aleundHlHaea]ln.

10. Explain the different mode of payment in international trade
&MeuGaHa alMHGHaHHIHed LLGOIMI QUMSBLITET Cl&6)|d GG 60dHemer
suflsemer e)116UM&HSH6YLN.

11. Describe in detail international equity financing .
&MeuGsH & poLyemn LIRIGHS umm ellifeuns alleuMsHaeaLn.

12. Describe foreign currency revaluation and reverse revaluation .
QeueMpML @ brewil MGG LMMID $enevdw LmILSHUSEH
pdweumenm aleudbaealLn.
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